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1. 01

(q0, 01,#) ` (q1, 1, 0#)
` (q1, ε, #)
` (q0, ε, #)

0110

(q0, 0110,#) ` (q1, 110, 0#)
` (q1, 10,#)
` (q0, 10,#)
` (q1, 0, 1#)
` (q1, ε, #)
` (q0, ε, #)

00

(q0, 00,#) ` (q1, 0, 0#)
` (q1, ε, 00#)

ε

(q0, ε, #)

2.
01, 0110, ε ∈ L(P )

00 /∈ L(P )

3. L(P ): words with the same number of 0s and 1s. I.e.

L(P ) = {w ∈ {0, 1}∗ | #0(w) = #1(w)

where #0,#1 ∈ Σ∗ → N are functions which counts the number of 0s, 1s
occuring in a word.

4. A PDA is deterministic if there is never a choice between two possible IDs.
More formally

|δ(q, x, z)|+ |δ(q, ε, z)| ≤ 1

Indeed, P is deterministic.


